PN, FN:EGSSUUDD—OOU KM2.8-2PB kum |

KM

DUUUDUU|Group: PRO |uSer

EGo60000-000

|EC No,

| B ’( 60 )‘
J % S @

4-908.5

=g

125
105
|
AN
01

{

KMe2 . 8-2PB

e

REF No

PARTS NAME

Q1Y

Motor case KM2.8-2P/HKM5BK

Stator KM2.8-2P

Set screw MBXS8

Rotor KM2.8-2P

Bearing 62012ZC3 SRL

Bearing case KM2.8-2PA

O ring JISB2401 GB65

Eccentric Weight KM2.8-2P

Bolt M5X20 S cross recessed head

Side cover KMZ2.8-2PA

O ring JISB2401 G65

Bolt M5X30 S cross recessed head

Cord guide KM2.8-2P/HKM5BK

Sleeve packing KM2.8-2P/HKM5BK

Insulated closed-end connectors EC3-1

Cord fix metal HKMbHB

Screw MAX10 S pan head

[nsulation sheet A KM2.8-2P/HKM5BK

Cover packing KM2.8-2P/HKM5BK

Terminal cover KMZ2.8-2P

Bolt M5X15 S cross recessed head

Bolt M5X25 S cross recessed head

Cable EM-CT/K2X4

Round terminal R2-4

Cord reinforcing rubber KM2.8-2P

Label NPE KMz2.8-2PB

ool o= = === ==|=|=]|= .
R G N I N S R A A R N I S BN R e R B R e el Rl

Label warning 30X30

—|=|=|=|=|||=]|=|=|V|=|w|=]|=]ov|[vs oo ===~

42

L] RN )
& @éem@@ 3
/j’z ,” z ,y’l‘ 12 A
é 7] r 8}
] i 10
A i) B
EXEN vop ™
ﬁﬁﬁ@ﬁﬂFMW‘ —
A D -
EXENC
‘ i | /A v
166 \ \ \
VIBRATION CENTRIFUGAL] INSTALLATION
MODEL |OUTPUT|VOLTAGE| CYCLE | CURRENT VIBRATION IR i MAS S
3@‘200(V) 50/60(HZ) U.ES/U.E](A) 45.5/5A.A(HZ) 0 25/0 36
KM2 . 8-2PB| 28 (W) .(kN)‘ M8 2.90 (Kg)
30-220 (V) 60 (Hz) 0.23 (A) 55.7 (Hz)

EXEN CORPORATION




